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Unit 2 Exam Prep
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a. 3x – 5 < 1
b. 5 – 3x > 1
c. 3x + 7 > 1
d. 7 - 3x < 1
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A.  4.50x ≤ 25
B. 4.50x ≥ 25
C. 4.50x = 25
D. 25 ÷ 4.50
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Maile has a $25.00 gift card to the video store. Each video rental costs $4.50. Which represents the inequality showing
the maximum number of videos Maile can rent with her gift card?
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Marissa is shorter than three times the height of
her dog. If m represents Marissa's height and o/
represents her dog’s height, which inequality below is
true?

A m=3d
B. dz3m
C. m<3d
D.

d>3m
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A chemist wants to make a salt solution containing
no more than |0 milliters (mL) of salt. She mixes

¥ mL of a ]5% salt solution with v mL of a 25% salt
solution. The inequality below models this situation.

0<0.150+025y < 10

The chemist decides to use 30 mL of the |5% solution

(x = 30) . Which graph shows the possible amounts of

250 salt solution in this mixture?
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Horace is building a triangular patio in back of his
home. He drew this triangle showing the lengths of two
sides.

aft o

x

The sum of the lengths of any two sides of a triangle
must be greater than the third side. Which set of
inequalities represents the possible lengths of the third
side ofthis triangle?

A x<2orx<10
B. x<lorx>10
C. x>»2andx > 10
D. x>2andx < 10
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Five more than twice a number is no more than 21 .
Which number line represents the possible values for

x?
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Which graph represents the solution to the inequality
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Martin has only $55.00 to spend on fabric. He buys
X yards of red fabric at $3.50 per yardand ¥ yards
of blue fabric at $6.30 per yard. Which inequality
represents this situation?

A

B. $3.50x — $6.30y < $5:
c.
D.

$3.50y + $6.30x >

3$3.50x + $6.30y < $55.00

. $3.50y — $6.30x < $55.00
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Which graph represents the solution to the inequality
[2c-3[< 112
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Two functions are graphed below. The function for
graph Ais y=u| .

Which function represents graph B?

A y=xl+3
B. y=x-3
c.
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While conducting an experiment, a physicist varied the
voltage across an electric circuit at a constant rate of
3volts per second. First she decreased the voltage

to zero. Then she increased it again. The change in
voltage can be represented by the function 1= 3}/,
where 1 is the applied voltage and v is the time in
seconds before and after the voltage equaled zero.
Which graph represents this situation?
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Megan noted the yearly changes in the amount of
rainfall in her hometown over the last 3 years. To
compute the average change (1), she used the
equation below.

c. A=

p. - T*3+0
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The number line below shows the solution to which inequality?
A x
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The speeds allowed on a freeway in a certain city can be represented by x in the algebraic inequality below.

80%2x-205120
Whatis the allowed range of speeds?

20<x540
30<x<50
40<x<60
50<x<70
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Which graph shows the solution set of 4x < —8 7





image5.png
Edith budgets a maximum of $50 per month for her cell phone bill. Her cell phone provider charges $30 a month as a
base fee plus $0.10 per minute for usage of the cell phone. Which number line shows how many minutes Edith can use
‘each month and stay within her budget?
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